Таблица ответов.
	вариант
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14

	В1
	40
	40
	21
	15
	15
	14
	40
	11
	40
	8
	11
	21
	21
	8

	В2
	396
	10
	23
	4
	404
	404
	23
	10
	23
	12
	4
	14600
	396
	404

	В3
	3
	8
	3
	4
	15
	3
	16
	16
	15
	10
	10
	11
	8
	11

	В4
	6
	6
	6
	6
	6
	6
	6
	6
	6
	6
	6
	6
	6
	6

	В5
	7000
	5010
	10100
	9000
	5010
	5010
	7000
	10100
	3650
	7300
	5670
	7300
	4140
	6570

	В6
	12
	15
	12
	7,5
	7,5
	12
	6
	12
	15
	15
	7,5
	15
	12
	6

	В7
	176
	240
	162
	162
	120
	176
	54
	162
	120
	18
	18
	176
	120
	162

	В8
	-4,25
	1,6
	-1,5
	1,6
	-1,2
	1,8
	-1,5
	-1,5
	0,4
	- 1,2
	-0,5
	-0,5
	0,8
	0,8

	В9
	1
	1
	2
	3
	3
	1
	1
	2
	1
	2
	2
	5
	5
	2

	В10
	11
	11
	11
	11
	11
	11
	11
	11
	11
	11
	11
	11
	11
	11

	В11
	-7
	-21
	18
	24
	30
	-7
	18
	24
	30
	- 16
	-16
	19
	6
	19

	В12
	3
	3
	2
	1
	2
	1
	3
	1
	3
	3
	3
	1
	2
	3


	С1
	
[image: image1.wmf](

)

÷

÷

÷

÷

ø

ö

ç

ç

ç

ç

è

æ

-

+

-

9

1

;

9

1

arcsin

1

Пп

n


	
[image: image2.wmf]÷

÷

÷

÷

ø

ö

ç

ç

ç

ç

è

æ

+

±

9

1

;

2

9

1

arccos

n

p


	
[image: image3.wmf](

)

÷

÷

÷

÷

ø

ö

ç

ç

ç

ç

è

æ

-

+

-

16

1

;

16

1

arcsin

1

m

m

p


	
[image: image4.wmf]÷

÷

÷

÷

ø

ö

ç

ç

ç

ç

è

æ

-

+

±

6

1

;

2

16

1

arccos

m

p


	
[image: image5.wmf](

)

÷

÷

÷

÷

ø

ö

ç

ç

ç

ç

è

æ

-

+

-

9

1

;

9

1

arcsin

1

n

n

p


	
[image: image6.wmf](

)

÷

÷

÷

÷

ø

ö

ç

ç

ç

ç

è

æ

-

+

-

9

1

;

9

1

arcsin

1

n

n

p


	
[image: image7.wmf](

)

÷

÷

÷

÷

ø

ö

ç

ç

ç

ç

è

æ

-

+

-

16

1

;

16

1

arcsin

1

n

n

p



	С2
	arctg
[image: image8.wmf]13

20


	arctg
[image: image9.wmf]5

3


	arctg
[image: image10.wmf]13

20


	arctg
[image: image11.wmf]25

24


	arctg
[image: image12.wmf]13

15


	arctg
[image: image13.wmf]6

13


	arctg
[image: image14.wmf]13

30



	С3
	[– 25; – 3); (– 3; – 1); 
[image: image15.wmf]÷

ø

ö

ç

è

æ

-

0

;

64

1


	[– 9; – 4); (– 4; –1); 
[image: image16.wmf]÷

ø

ö

ç

è

æ

-

0

;

81

1


	[– 25; – 3); (– 3; – 1); 
[image: image17.wmf]÷

ø

ö

ç

è

æ

-

0

;

25

1


	[– 9; – 3); (– 3; – 1); 
[image: image18.wmf]÷

ø

ö

ç

è

æ

-

0

;

9

1


	[–25; –3); (–3; –1); 
[image: image19.wmf]÷

ø

ö

ç

è

æ

-

0

;

25

1


	[–49; –5); (–5; –1); 
[image: image20.wmf]÷

ø

ö

ç

è

æ

-

0

;

49

1


	[–9; –5); (–5; –1); 
[image: image21.wmf]÷

ø

ö

ç

è

æ

-

0

;

81

1



	С4
	
	
	19,5 или  65
	
	
	
	

	
	8
	9
	10
	11
	12
	13
	14

	С1
	
[image: image22.wmf]÷

÷

÷

÷

ø

ö

ç

ç

ç

ç

è

æ

+

±

9

1

;

2

9

1

arccos

n

p


	
	
[image: image23.wmf]÷

ø

ö

ç

è

æ

+

±

25

1

;

2

25

1

arccos

k

p


	
[image: image24.wmf]÷

ø

ö

ç

è

æ

-

+

±

16

1

;

2

16

1

arccos

k

p


	
[image: image25.wmf](

)

÷

ø

ö

ç

è

æ

+

-

9

1

;

9

1

arcsin

1

k

k

p


	[image: image26.png]



	
[image: image27.wmf](

)

÷

ø

ö

ç

è

æ

-

+

-

9

1

;

9

1

arcsin

1

k

k

p



	С2
	arctg
[image: image28.wmf]13

30


	
	arctg 1,2
	arctg 1,2
	arctg 1,6
	
	arctg 1,6

	С3
	[– 9; – 3); (– 3; – 1); 
[image: image29.wmf]÷

ø

ö

ç

è

æ

-

0

;

9

1


	
	
[image: image30.wmf];

0

;

81

1

÷

ø

ö

ç

è

æ

-

[–9;–3);

(–3;–1)
	[– 9; – 4); (– 4; –1); 
[image: image31.wmf]÷

ø

ö

ç

è

æ

-

0

;

81

1


	[–49; –5); (–5; –1); 
[image: image32.wmf]÷

ø

ö

ç

è

æ

-

0

;

49

1


	
	[–25; –3); (–3; –1); 
[image: image33.wmf]÷

ø

ö

ç

è

æ

-

0

;

625

1




_1361821743.unknown

_1361821751.unknown

_1361821755.unknown

_1361821759.unknown

_1361821763.unknown

_1361821765.unknown

_1361821766.unknown

_1361821767.unknown

_1361821764.unknown

_1361821761.unknown

_1361821762.unknown

_1361821760.unknown

_1361821757.unknown

_1361821758.unknown

_1361821756.unknown

_1361821753.unknown

_1361821754.unknown

_1361821752.unknown

_1361821747.unknown

_1361821749.unknown

_1361821750.unknown

_1361821748.unknown

_1361821745.unknown

_1361821746.unknown

_1361821744.unknown

_1361821739.unknown

_1361821741.unknown

_1361821742.unknown

_1361821740.unknown

_1361821737.unknown

_1361821738.unknown

_1361821736.unknown

